
2 a

2 b

2 c 3 a

3 b

3 c

1

Ts100 Installation Instructions

x2 x2

D - M8 washer X18A - M6x25mm X3 B- M8x12mm X14 E - M8 nut X4 Also required: Pozi screwdriver
Assembly instructions for TS100
TV & Pulse Soundbar stand
 

TV Fixing KitAssembly Kit

Bx4

Ax3

Bx4

Cx4

Dx4
Dx4

5mm 5mm

5mm 5mm

x4

x4

Top view

Top view

C - M5x10mm X4

4 a 4 aVESA 100 / 200 VESA 300 / 400 / 600x400 / 800x400
Universal 200mm x 200mm - 800mm x 400mm

J/K/L
x4

F/G/H/I
x4

M/N/O/P
x4 J/K/L

x4

F/G/H/I
x4

M/N/O/P
x4

4 c

Ex4

Dx4

4 b

Bx4

Dx4

M - M4x5mm X4
N - M5x5mm X4

O - M6x6mm X4
P - M8x6mm X4

J - M5 washer X4 K - M6 washer X4
L - M8 washer X4

F - M4x20mm X4
G - M5x20mm X4

H - M6x20mm X4
I - M8x20mm X4

!

!

Optional

Optional



5 a 5 b

Bx2

!

Dx2

6 a

7 a 7 b 7 c6 b

x4

6 a

x4

8

Ts100 Installation Instructions

Assembly instructions for TS100
TV & Pulse Soundbar stand
 


